Government of Tender Notice

Invitation of Tender Notice No.17 & 18 /Seri/Engg/Civil/PCR/JAL/2018-19.

Sealed Tenders are invited by the Executive Engineer, Directorate of Textiles (Sericulture), West Bengal, 45, Ganesh Chandra Avenue(2nd floor), Kolkata-13 for the following works in the dist.of Alipurduar under P.C.R. from the bonafide experienced and resourceful contractors having experience in such types of works in pure Government

Depart	ment/Zilla Parishad.					Bed Piller (Balking 198
NIT	Name of the Work	Estimated Cost	Earnest Money	Place of Work		Time of completion
No.						
17	Repairing of Bath-room, Toilet & installation of Pump for drinking water and Main Gate, Collapsible Gate at Moynaguri Cocoon Market, Jalpaiguri under P.C.R.	Rs.2,75.698/- (Rupees two lakh seventy five thousand six hundred ninety eight) only.	Rs.6,900/- (Rupees six thousand nine hundred)only.	Moynaguri Cocooi Market, Jalpaiguri (Alipurduar).		I (one) month from the date of issue of Work Order.
18	Thorough repairing of Office-cum-Rearing House (2-storied) and wooden structure Rearing House with new Overhead Tank, Plumbing works and other allied works at S.D.F., Chalsa, Jalpaiguri under PCR.	Rs.4,88,990/- (Rupees four lakh eighty eight thousand nine hundred ninety)only.	Rs.12,225/- (Rupees twelve thousand two hundred twenty five)only.	S.D.F., Chalsa, Jalpaiguri (Alipuro	luar):	Tree leads

Tender papers (NIT, Priced Schedule & Form: 2911(ii) etc. may be obtained/down loaded from *seriwbgov.org* at free of cost. Tender papers should be submitted in the box kept at Head Quarters, Kolkata & papers should be arranged in the following manner.

Last date and time of submission of Tender	31.08.2018 upto 3-00 P.M. at Head Quarters, Kolkata.
Date and time of opening of Tender	31.08.2018 upto 3-30 P.M. at Head Quarters, Kolkata.

Envelope-I, should be superscribed as Technical Bid for N.I.T. No...........of work, Name of the Agency and it should contain (Self attested) i) PAN Card. Last Income Tax Return. Valid GSTIN Registration, P.Tax, Challan, Credential (similar nature of work at about 60% of Tender value), E.M.D. and sealed.

The Technical Bid will be opened at first. The financial Bid will be opened only if the Technical Bid is found acceptable. Labour Cess will be deducted from Bill value as per Govt. Rules. All the original copies are to be shown for verification. The details may be seen in the Office of the Commissioner of Textiles (Sericulture), Govt. of West Bengal, 45, Ganesh Chandra Avenue(2nd floor), Kolkata - 13 on any working days, and in the Website; seriwbgov.org. The Commissioner of Textiles (Sericulture), Govt. of West Bengal reserves the right to reject/accept all the applications without showing any reasons thereof. It any date as above happens to be holiday the next working day will be considered as stipulated date. Acceptance of lowest tender is not obligatory. N.S.C./K.V.P. will not be accepted as Earnest Money. Only the Bank Draft of a Nationalized Bank will be considered as earnest money. Acceptance of lowest Tender is not obligatory. Notwithstanding anything contained in this Notice Inviting Tender, the other terms & conditions and special terms & conditions will remain binding upon all concerned.

Executive Engineer,
Directorate of Textiles (Sericulture),
West Bengal.

Continual

Price Schedule for Repairing of Office cum Rearing house (2- Storied) and wooden structure rearing house with new overhead tank and other allied works at S.D.F. Chalsa ,DistJalpaiguri, under PER.PCR .2018-19

	PER.PCR .2018-19							
SI.	Description of items	Unit	Quantity	Rate	Amount Rs.			
1.	Earth work in excavation of foundation trenches or drains in all sorts of soil etc including late rite soil etc Depth of excavation not exceeding 1.50 mtr.	m3	20.00 m3	119.27/m3	2385.00			
2.	Single brick soling of picked jhama bricks including Ramming and dressing bed to proper level etc	m2	20.00m2	323.00/ m2	6460.00			
3.	Ordinary cement concrete works 1:2:4 with graded stone Chips etc. by River bazree,	m3	2.50m3	3925.00/m3	9813.00			
4.	Hire &Labour charges for shuttering etcPly board Shuttering etc	m2	70.00 m2	328.00/m2	22,960.00			
5.	Reinforcement for reinforced concrete works in all sorts of structure including distribution bars, etc. Tor steel for works in foundation, basement, and up to roof level of ground floor. Etc as per PWD schedule. Non Tata	Kgs.	670.00 kg	57.60/ kg.	38,592.00			
6.	Ordinary cement concrete works 1:1.5:4 with graded stone Chips etc River bazree	m ³	13.00m3	4666.00/m3	60,658.00			
7.	S/F/F G.I. Pipes of Tata make Medium. i) 40 mm Dia, pipe ii) 25 mm dia pipe	Mtr. Mtr	18.00 mtr 12.00 mtr	400.00 / mtr 319,00/ mtr.	7200.00 3828.00			
8.	S/F/F wheel valve gunmetal of approved brand & make etc i) 40 mm dia ii)25 mm dia iii)15 mm dia iv)80 mm dia	No No No No	3 nos. 4 nos 2 nos 1 no	1590.00/each 778.00/each 438.00/each 6384.00/po	4770.00 3112.00 876.00 6384.00			
9.	S/F/F PVC pipes for exposed works medium duty conforming to ASTMD 1785 schedule 80 medium i)25 mm dia pipe ii)15 mm dia pipe i)	Mtr Mtr	20.00 mtr. 12.00 mtr.	191.00 /mtr 117.00 /mtr.	3820.00 1404.00			
10.	S/F/F white vitreous china ware best quality of approved make Wash Basin 550 mm X 400.mm. etc	No.	3 nos.	2208.00/each	6624.00			
11.	S/F/F PVC- Stop cock, bib cock, Piller cock, angular stop cock 15 mm Dia PTMT Watertek, Jaguar	No.	30 nos.	154.00/each	4620.00			
12.	S/F/F- 1000Litre PVC water Storage Tank of approved brand And make with closed top Black Multilayer .Sintex/Watertek	No	2 nos.	5128.00/each	10,256.00			
13.	S/F/F –UPVC Pipes (B- Type)& fittings conforming to IS 13595-1992 Single socketed. i) 110 mm dia	mtr	3.00 mtr.	196.00 / mtr	588.00			
14.	S/F/F- 4 (feet) Tube Light set Phillips Make for wooden RH.(inspection Room) Electronic chocks	No.	6 Nos.	825.00/each	4950.00			
15.	Stripping off worn out plaster and racking out joints etc	m2	282.00 m2	19.00 m2	5358.00			
16	Plaster with sand cement mortar including rounding off corners as directed vii) With (1:4) Cement sand mortar 20 mm thick.	m2	112.00 m2	177.00/m2	19,824.00			
	viii) With (1:4) Cement sand mortar 15mm thick.ix) ii) With (1:4) Cement sand mortar 10 mm thick.	m2 m2	100.00 m2 70.00 m2	154.00/m2 125.00 /m2	15,400.0 0 8,750.00			

Executive Engineer

Directorate of Textiles (Serticulture)

Government of West Bengal

SI.	Description of items	Unit	Quantity	Rate	Amount Rs.
17.	Neat cement punning about 1.5 mm thick etc	m2	170.00 m2	34.00/m2	5780.00
18.	Extra for staging beyond 4 mtr. For RCC tank structure & other areas.	m2	220.00 m2	60.00 / m2	13,200.00
19.	White washing including cleaning and smoothening surface thoroughly -2 coats	m ²	1500.00 m ²	18.14/m²	27,210.00
20.	Applying decorative cement base paint of approved quality preparing the surface -2 coats	m ²	500 .00m ²	49.00/m²	24,500.00
21.	Add additional extra for each additional floor etc	m2	250.00 m2	0.71 / m2	178.00
22.	Priming one coat on Steel or other metal surface by oil bound paint of approved quality.	Sqm.	·235.00 m2	29.00/m2	6815.00
23.	Priming one coat on timber or other surface by oil bound paint of approved quality.	Sqm.	400.00 m2	38.00 /m2	15,200,00
24.	M.S. Ornamental grill of approved design 10 kg – 16 kg / m2	Kg	150.00 kg.	73.71/kg	11,057.00
25.°	Taking out shutters of doors and windows dismantling by parts For repair or replacements	m2	10.00 m2	126.00 /m2	1260.00
26.	Wood work in beam, bargas fitted and fixed complete for 4 nos. Wooden khot for inspection rooms at 1 st floor of wooden rearing House Sal siliguri(Khot size -1.20 X 2.10 mtr.)	m3	0.300 m3	71,474.00/m3	21,442.00
27.	S/F/F – boiling water resistance ply board (for 4- nos wooden khot top) conforming to IS -303-1989 bonded with phenol dehydide 19 mm thick (Specially KIT PlY)	m2	10.08 m2	2420.007 m2	24,394.00
28.	S/F/F Ceiling fans (4- feet) of approved quality Crompton graves/ Khoitanmake.(for Inspection rooms of wooden rearing House)	No	2 nes	2000.00/ no.	4000.00
29.		Points	4 points	500.00 /each	
30.	S/F/F mosquito proof nylon netting of any type of windows	m2	10.00 m2	949.00/m2	9490,00
31.	Ceiling with 12 mm thick wooden plank fitted and fixed complete	m2	18.00 m2	951.00/ m2	17,118.00

Add 12% (6 % CGST + 6 % SGST

Rs.4,32,276.00

= <u>Rs.51,873.00</u> / Rs.4,84,149.00

Add 1 % Labour welfare cess.

Rs.4841.00

TotalRs.4,88,990.00

Executive Engineer

Orrectorate of Textiles (Sertcukurs)

Government of West Bengal

					# H
SI.	Description of items	Unit	Quantity	Rate	Amount Rs.
17.	Neat cement punning about 1.5 mm thick etc	m2	170.00 m2	34.00/m2	5780.00
18.	Extra for staging beyond 4 mtr. For RCC tank structure & other areas.	m2	220.00 m2	60.00 / m2	13,200.00
19.	White washing including cleaning and smoothening surface thoroughly -2 coats	m ²	1500.00 m ²	18.14/m²	27,210.00
20.	Applying decorative cement base paint of approved quality preparing the surface -2 coats	m ²	500 .00m ²	49.00/m²	24,500.00
21.	Add additional extra for each additional floor etc	m2	250.00 m2	0.71 / m2	178.00
22.	Priming one coat on Steel or other metal surface by oil bound paint of approved quality.	Sqm.	·235.00 m2	29.00/m2	6815.00
23.	Priming one coat on timber or other surface by oil bound paint of approved quality.	Sqm.	400.00 m2	38.00 /m2	15,200,00
24.	M.S. Ornamental grill of approved design 10 kg – 16 kg / m2	Kg	150.00 kg.	73.71/kg	11,057.00
25.	Taking out shutters of doors and windows dismantling by parts For repair or replacements	m2	10.00 m2	126.00 /m2	1260.00
26.	Wood work in beam, bargas fitted and fixed complete for 4 nos. Wooden khot for inspection rooms at 1 st floor of wooden rearing House Sal siliguri(Khot size -1.20 X 2.10 mtr.)	m3	0.300 m3	71,474.00/m3	21,442.00
27.	S/F/F – boiling water resistance ply board (for 4- nos wooden khot top) conforming to IS -303-1989 bonded with phenol dehydide 19 mm thick (Specially KIT PlY)	m2	10.08 m2	2420.007 m2	24,394.00
28.	S/F/F Ceiling fans (4- feet) of approved quality Crompton graves/ Khoitanmake.(for Inspection rooms of wooden rearing House)	No	2 nes	2000.00/no.	4000.00
29.	Electrical wiring with 1.5 mm 2 copper wire (Finolex) with Switch 5 amp.	Points	4 points	500.00 /each	2000.00
30.	S/F/F mosquito proof nylon netting of any type of windows	m2	10.00 m2	949.00/m2	9490,00
31.	Ceiling with 12 mm thick wooden plank fitted and fixed complete	m2	18.00 m2	951.00/ m2	17,118.00

Add 12% (6 % CGST + 6 % SGST)

Rs.4,32,276.00 = Rs.51,873.00

Rs.4,84,149.00

Add 1 % Labour welfare cess.

Rs.4841.00

TotalRs.4,88,990.00

Executive Engineer

Chrecheste of Textiles (Sertcullure)

Government of West Bengal